
 

Complete Soft Top 

1976-1995 CJ-7 and YJ Wrangler 

w/ Full Steel Doors 

Part Number: CT20035T 
 

 

Kit Components 

1 Soft Top Skin 2 Connector Tubes 4 #10-24 x Lock Nuts 
2 L & R Side Windows 1 Cargo Area Tonneau Cover 4 #10 Flat Washers 
1 Rear Window 1 Tailgate Bar 4 #10 Star Washers 
1 Bow Assembly 1 Tailgate Weatherstrip 11 #8 x 1/4" Sheet Metal Screws 
1 Windshield Channel 12 5/16" Nut Plates 8 #8 x 1/2" Sheet Metal Screws 
2 Left & Right Side Belt Rails 12 5/16" Flat Washers 2 #8 x 1" Sheet Metal Screws 
2 Left & Right Corner Belt Rails 12 5/16" Torx Bolts 4 #10-24 x 1/2" Machine Screws 
2 Left & Right Tailgate Brackets 2 Side Rail Pin 1 Top Storage Bag 

  
1 Organizer 

   

-Read all instructions carefully prior to starting installation. 
-We recommend installing this top in temperatures 70F (21C) and above.  This will make installation easier and reduce 

the risk of damaging the top.  Laying all of the pieces of the top in the sun is also suggested to ease installation. 
-Do not over-stress the zippers or straps.  Failure to comply may damage the top or windows. 

 
1. Remove the existing hard or soft top.  All existing hardware must be removed. 

2. Position the Windshield Channel on top of the windshield frame with the open part of the Windshield Channel facing the front 

of the vehicle. 

 If there are existing holes, secure the channel to the windshield frame using #8 x ¼” Sheet Metal Screws.   

 If there are not existing holes, use the windshield channel as a template and drill 1/8” holes, then secure it to the 

windshield frame.   

 If the holes are enlarged, purchase larger screws locally.  It is very important that the Windshield Channel is 

mounted securely. 

3. Line up the Left & Right Side Belt Rails with the existing bolt holes in the sides of the body.  Place a 5/16” Flat Washer onto 

each of the 5/16” Torx Bolts and install them into the holes in the Side Belt Rails.  Secure with the 5/16” Nut Plates.  Do not 

install the front bolt on either side at this time. 

4. Line up the Left & Right Corner Belt Rails with the existing bolt holes in the corners of the body.  Place a 5/16” Flat Washer 

onto each of the 5/16” Torx Bolts and install them into the holes in the Corner Belt Rails.  Secure with the 5/16” Nut Plates.  

Do not install the front bolt at this time.  It is normal to have a gap between the Corner and Side Belt Rails. 

5. Line up the Tailgate Retainer Brackets with the existing holes in the rear of the body.  Place a #10 Star Washer and a #10 Flat 

Washer onto each of the #10 Machine Screws and install them through the holes in the Tailgate Retainer Bracket and the 



body.  Secure with the #10 Lock Nuts.  If the holes do not line up, drill 3/16” holes using caution not to drill through any 

wiring in the body. 

6. Lay the Bow Assembly on a clean flat surface and identify the front and rear bow.  (The front bow will have foam padding).  

Attach the two sides together using the Connecter Tubes.  You will need to push the buttons down to slide into the bow.  

Line up the holes with the buttons on the Connector Tube and snap together.  The button should pop out of the hole and 

lock in place. 

7. Slide the ends of the Bow Assembly into the tracks located on the inside of the Belt Rails from the rear forward.  Secure the bow 

ends by inserting the Side Rail Pins into the Side Rails. 

8. Slide the front bow towards the front of the vehicle making sure the rear bow stays to the back.  Unfold the spreader bars and 

snap the pin in the provided hole in the spreader bar.  This should lock it into place.  Be sure it is securely locked prior to 

installing the fabric.  Failure to do so can cause personal injury or damage to the vehicle. 

9. To install door surrounds start by loosening the visor bolts attached to the windshield.   

For YJ Models- Remove the two Torx bolts that attach the roll bar to the windshield frame on both sides of the 

vehicle.  Slide the Windshield Brackets in between the roll bar mount and the windshield frame with the tab 

on the top of the bracket and facing the rear of the Jeep.  Line up the holes and reinstall the OE Torx Bolts. 

For CJ Models- Place the Windshield Brackets in the upper corner of the windshield frame with the tab on the top 

of the bracket and facing the rear of the Jeep.  Mark the two smaller holes in the bracket and drill holes.  Using 

the ¼” Sheet Metal Screws, secure the bracket to the windshield frame. 

10. Install the lower door surround mounts to the hole at the front of the Side Rail previously left empty with the tab towards the 

inside of the body.  Secure in place with 5/16” Torx Bolts. 

11. Insert the door surrounds into the square hole on the body rail and attach the upper tube onto the windshield mount bracket.  

Snap them into place. 

12. Remove the rear quarter windows from the Soft Top Skin.  Drape the Soft Top Skin over the bow assembly with the sewn in 

plastic strip facing the front of the Jeep. 

13. Pull the pin on the bow assembly spreader bars and slightly collapse the bow assembly. 

14. Snap the soft top skin fabric to the center and rear bows.  Insert the sewn in plastic strip located at the front of the soft top into 

the windshield channel.  Take care to ensure the soft top is centered on the windshield frame. 

15. Insert the sewn in plastic strips located at each rear lower corner of the Soft Top Skin into each Corner Belt Rail. 

16. Pull back the rear bow assembly until it snaps into the notch in the inside of the belt rail.   

17. Push the spreader bar up back into place and replace the pin to lock it into place. 

18. Start both zippers on each Side Window 4-6”.  Insert the sewn in plastic strip toward the front of the Side Window into the back 

side of the door surround, then insert into the Belt Rail at the body.  Fully zip the window zippers and repeat for other side. 

19. Open the tailgate and zip only the top zipper on the Rear Window.   

20. Locate the Tailgate Bar and Cargo Area Tonneau Cover.  Slide the extrusion on the backside of the Tonneau Cover into the 

Tailgate Bar.  Slide the Tailgate Bar into the extrusion on the bottom of the Rear Window.  Slide the Tailgate Bar into the 

Tailgate Brackets and fully zip the Rear Window.  Insert the sewn in plastic strips located at the bottom of the Rear Window 

into the bottom of the Tailgate Retainers. 

21. Open a door and wrap the loose flaps around the door surrounds attaching them to the inside of the Soft Top Skin with the 

hook and loop fasteners.  Repeat on the opposite side. 

22. To complete the Cargo Area Tonneau Cover installation, fold the rear seat forward.  Using the strap in the corner of the Tonneau 

Cover, position in place to mark the hole location on the fender well.  Drill an 1/8” hole on the established mark.  Set the 

Tonneau Cover into place and secure the straps using the #8 x 1” Sheet Metal Screws. 

23. Insert the Tailgate Weatherstrip on top of the tailgate and ensure the Weatherstrip is seated fully.  Trim if necessary. 

24. Make any adjustments necessary to ensure the top is centered and fits properly.  Creases in the top fabric of 

windows will fade away once the top is installed. 

25. Small adjustments to the top may be necessary once the top warms up and any creases are smoothed out. 

 
While every attempt is made to ensure that the information contained in these instructions is correct, no liability can be accepted by the authors for loss, damage, or 

injury caused by any errors in, or omissions from the information given.  All service should be performed by qualified mechanics.  Crown Automotive Sales Co .,Inc.  

cannot be held responsible for any mechanical work performed.  Standard and accepted safety precautions should be used in every procedure. 


